EE230 Practice Test 1 Solutions

Lecture 9
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2. Find y(0) and y(o0) if the system is H(s) = Freio and x(t) = 5e
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3. Same as above but find y(t).
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Find y(t) = x(t) * h(t) by both integral and graphical methods if x(t) = -h(t) = u(t-1).
(Note: on a test, the graphical problem would be limited to flat-topped functions
(steps and pulses), but it would probably have exponentials if the problem

ified fint | methods). (= uvl+-1)
T 0 el S5
@) 1o ted . N ("‘\ £ U('(’-\) X(t) s W(H-7):= ~u(+-'£~l
\/(-'»\-D{ (N W($-TN AT ’ |
3 ~— z
:T w(Z-DNEu(t-T-1Y) AT ht’r—’f,\?-v(*'t-h & 20
’m _
:‘~EUC1‘OU(+’Z'(\A" -1 -
A(&«J uL‘t-DU(“*fv\S
o(T-\) ‘O\{ A 5(1’(-%\'0“:\"’0‘*) hewe o
)74 Sll‘l{ louu‘ P‘”( bY +Z7,‘(‘o Lisue

' = 34 ‘/ N r T Iz
U(*-'C-(\ i‘{:‘: f‘;l** 0_‘5\ s anz(o‘\a{lfl ‘%\9’\. |\\l/; ‘l‘\«.'- P'z‘o)v' ‘{‘
ad Y e pu\s(, {vad L\\SL o

suiich point
1 P ) T:=1 4, T+ \ear\om areuw()
ulz-D v($-T 1) (-M—_(*H-l'\-ll e -+

30
\ 1 e dst>] (A =:(2-4)u(#D)
K [ -l+4 o O siherwise E ( \ J
so o(T-Oulf-z - =

-:\4,—‘-

polse ofa I1<Z <t i€ 172 9&
o 0%&./'%
4-1 1 ;
\/({-\;ES: olt]u({"ﬂ o |
= - j‘;;ll v(f-2)
= -({-»l -l\o(‘f”é

Electrical & Computer Engineering, Virginia Military Institute COL Squire



5. Find the circuit W
a. transfer function 5Q N
b mpulse response. V() (4:) 2E— vo(t)
c. differential equation 1/12F -
d. s-plane plot T
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The differential equation describing a system is 3y’ (t) + y(t) = x" (t). Find the

6.
output y(t) if the input is x(t) = 4e~%/3. Hint: is it proper?

Y(s): HHKL (s)
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7. Thought question: If you are given a circuit, whose input is not specified (say it is
an unknown voltage source), is it possible to find the circuit’s system transfer

function? Explain.
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